

### See a Social Security Number? Say Something! Report Privacy Problems to https://public.resource.org/privacy Or call the IRS Identity Theft Hotline at 1-800-908-4490



Return of Private Foundation or Section 4947(a)(1) Trust Treated as Private Foundation

OMB No 1545-0052

Department of the Treasury Internal Revenue Service

▶ Do not enter social security numbers on this form as it may be made public.

▶ Information about Form 990-PF and its separate instructions is at www.irs.gov/form990pf.

Open to Public Inspection

		ndar year 2014 or tax year beginning NOV	1 , 201	4, and		OCT 31	, 20	15_
Na	me of fo	pundation			A Employe	er identification numbe	er	
		OWN COOK FOUNDATION				06-6022958		
Nu	mber an	nd street (or P O box number if mail is not delivered to street address)	n/suite	<b>B</b> Telephor	ne number (see instruct	ions)		
PO	BOX 4	150, 4 WATER STREET				(860) 526-491	1	
Cit	y or tow	n, state or province, country, and ZIP or foreign postal code			C If exemp	tion application is pend	ling, check her	re ▶ 🗍
СН	ESTER	R, CT 06412			·			_
			n of a former public	charity	D 1. Foreig	n organizations, check	here	▶□
		☐ Final return ☐ Amended	return		0 Faraia	-	a tha 050/ tan	
		☐ Address change ☐ Name char	nge			n organizations meeting here and attach compl		່⊳⊓
H	Check	type of organization: Section 501(c)(3) exempt p	rivate foundation			foundation status was		_
		on 4947(a)(1) nonexempt charitable trust		dation	section 5	607(b)(1)(A), check here		. ▶∐
ī	Fair m	narket value of all assets at   J Accounting method	: 🗸 Cash 🗌 A	ccrual	E If the four	ndation is in a 60-mont	h termination	
		f year (from Part II, col. (c),			under se	ction 507(b)(1)(B), chec	k here .	▶□
	line 16	5) ► \$ 3,347,592 (Part I, column (d) must be	on cash basis.)					
Р	art I		(a) Revenue and				(d) Disburse	ments
		amounts in columns (b), (c), and (d) may not necessarily equal	expenses per		investment icome	(c) Adjusted net income	for charita	
		the amounts in column (a) (see instructions) )	books	•	1001110	111001110	(cash basis	
	1	Contributions, gifts, grants, etc., received (attach schedule)	<u> </u>					
	2	Check ► ✓ if the foundation is <b>not</b> required to attach Sch. B						
	3	Interest on savings and temporary cash investments					<u> </u>	<del></del>
	4	Dividends and interest from securities	61657	<u> </u>	61657		ļ-··-	
	5a	Gross rents	01007					
	b	Net rental income or (loss)					<u> </u>	
a	6a	Net gain or (loss) from sale of assets not on line 10		<del> </del>			<u> </u>	
Revenue	b	Gross sales price for all assets on line 6a		<u> </u>				
Ş	7	Capital gain net income (from Part IV, line 2)		<u> </u>	73334			
æ	8	Net short-term capital gain			13334			<del></del> -
_	9	Income modifications		<u> </u>				
	10a	Gross sales less returns and allowances		<u> </u>				<del></del> -
	b	Less: Cost of goods sold		<u> </u>				
	C	Gross profit or (loss) (attach schedule)						<del></del>
	11	Other income (attach schedule)		<b></b>				
	12	Total. Add lines 1 through 11	61657		134991			
_	13	Compensation of officers, directors, trustees, etc.	10000		5000	5000		<del></del> ;
enses	14		10000					
SE	15	Pension plans, employee henefit						
Ω.		Pension plans, employee benefits CEVED  Legal fees (attach schedule)					<u> </u>	
ũ	b	Accounting fees (attach schedule)						
Operating and Administrative Ex	c	Accounting fees (attach schedule)	10797		10797		<del></del>	
ati	17	Interest	<i>i</i>		.0.01			
str	18	Taxes (attach schedule) (see instructions)	1814		1814			
Ξ	19	Depreciation (attach schedule) and depletion 7.	1014				<del> </del>	<del></del>
투	20	Occupancy						
Ă	21	Travel, conferences, and meetings					<del></del>	
P	22	Printing and publications						
a.	23	Other expenses (attach schedule)	19		19			
ĭ	24	Total operating and administrative expenses.			13			
rat	<b></b>	Add lines 13 through 23	22630		17630	5000		
þe	25	Contributions, gifts, grants paid	65000		1,000			
Ō	26	Total expenses and disbursements. Add lines 24 and 25	87630		17630	5000		
_	27	Subtract line 26 from line 12:	0,030		17000	3000	\	
	a	Excess of revenue over expenses and disbursements	(25072)					
	b	Net investment income (if negative, enter -0-)	(25973)	<del> </del>	117964			
	ł	Adjusted net income (if negative, enter -0-)			117361	0		
	, .	, where the mount of the dath of the file				U	ı	

Dε	art II	Balance Sheets Attached schedules and amounts in the description column should be for end-of-year amounts only. (See instructions.)	Beginning of year	End o	<del></del>
			(a) Book Value	(b) Book Value	(c) Fair Market Value
	1	Cash-non-interest-bearing	63425	22294	22294
	2	Savings and temporary cash investments			
	3	Accounts receivable ►			
		Accounts receivable ►  Less: allowance for doubtful accounts ►			
	4	Pledges receivable ►	ĺ		
		Less: allowance for doubtful accounts ▶			
	5	Grants receivable			
	6	Receivables due from officers, directors, trustees, and other			
		disqualified persons (attach schedule) (see instructions)			
	7	Other notes and loans receivable (attach schedule) ▶			
S		Less: allowance for doubtful accounts ▶		j	
	8	Inventories for sale or use			
Assets	9	Prepaid expenses and deferred charges			
Ą	10a	Investments—U.S. and state government obligations (attach schedule)			
•	b	Investments—corporate stock (attach schedule)	1896340	1997890	2367825
	c	Investments—corporate bonds (attach schedule)	959144	976568	957472
	11	Investments—land, buildings, and equipment: basis ▶		370300	337472
	l ''	Less: accumulated depreciation (attach schedule) ▶			•
	12	Investments—mortgage loans	<del></del>		
	13	Investments—mortgage loans			<del></del>
	14				
ļ	1**	Land, buildings, and equipment: basis ►			
	4.5	Less: accumulated depreciation (attach schedule) ▶			
	15 16	Other assets (describe ► )  Total assets (to be completed by all filers—see the			·
	סו	instructions. Also, see page 1, item I)			
_	1-		2918909	2996752	3347592
	17	Accounts payable and accrued expenses			
S	18	Grants payable			
Liabilities	19	Deferred revenue			
Ē	20	Loans from officers, directors, trustees, and other disqualified persons			
<u>=</u>	21	Mortgages and other notes payable (attach schedule)			
	22	Other liabilities (describe ► )			,
_	23	Total liabilities (add lines 17 through 22)			
S		Foundations that follow SFAS 117, check here ▶ □			
alances		and complete lines 24 through 26 and lines 30 and 31.			
a	24	Unrestricted			
	25	Temporarily restricted			
P	26	Permanently restricted			
Net Assets or Fund B		Foundations that do not follow SFAS 117, check here ▶ □			,
F		and complete lines 27 through 31.			
Ō	27	Capital stock, trust principal, or current funds	2918909	2996752	
ets	28	Paid-in or capital surplus, or land, bldg., and equipment fund			
SS	29	Retained earnings, accumulated income, endowment, or other funds			,
A	30	Total net assets or fund balances (see instructions)			
lei	31	Total liabilities and net assets/fund balances (see			
~		instructions)	2918909	2996752	é f
Pa	rt III	Analysis of Changes in Net Assets or Fund Balances			
	Tota	I net assets or fund balances at beginning of year-Part II, colur			
		of-year figure reported on prior year's return)			2918909
2		r amount from Part I, line 27a		<del></del>	(25973)
3		er increases not included in line 2 (itemize) INCREASE IN TAX BA		3	103816
4		lines 1, 2, and 3		4	2996752
_	-				
6	Tota	reases not included in line 2 (itemize) > I net assets or fund balances at end of year (line 4 minus line 5)—F	Part II. column (h). line	30 6	2996752
<u> </u>		The state of the s	, 23141111 (5), 11110		<u> </u>

Part		d Losses for Tax on Investme  he kind(s) of property sold (e g , real estate,	nt Income	(b) How acquired	(c) [	ate acquired	(d) Date sold
		use, or common stock, 200 shs MLC Co)		P-Purchase D-Donation		o, day, yr)	(mo , day, yr )
1a	COMMON STOCK - SEE ATTACHED			Р	02	2/17/2015	09/09/2015
b	LONG TERM CAPITAL GA	N DISTRIBUTIONS		P	01	1/01/2014	10/31/2015
С							
<u>d</u>							=
e		(6 Denveyster allowed	(a) Coat	or other been		/h) Gour	or (loss)
	(e) Gross sales price	(f) Depreciation allowed (or allowable)		or other basis bense of sale			) minus (g)
a_	32 <u>4887</u>			252553			73334
b	31499						31499
<u>c</u>							
<u>d</u>	<u> </u>			··-		<u> </u>	·
<u>e</u>	Complete only for assets sh	owing gain in column (h) and owned by	the foundation	on on 12/31/69		//\ Coupe /Col	(h) gain minus
	(i) F M V as of 12/31/69	(j) Adjusted basis as of 12/31/69	(k) Exce	ess of col (I) ol (I), If any		col (k), but not	less than -0-) <b>or</b> om col (h))
		40 01 12/01/00		(),			
<u>a</u> b							
d	_						
е							_
2	Capital gain net income of	r ingt canital incel ( ~ ~	so enter in P enter -0- in P		2		
3	Net short-term capital ga	in or (loss) as defined in sections 1					·
	If gain, also enter in Parl	I, line 8, column (c) (see instructi	ons). If (los:	s), enter -0- in }			
Part		der Section 4940(e) for Reduc			3		
Nas t		e section 4942 tax on the distributa t qualify under section 4940(e). Do			oase p	period?	☐ Yes ☐ No
1	Enter the appropriate am	ount in each column for each year;	see the inst	ructions before m	aking	any entries.	
Cale	(a) Base period years endar year (or tax year beginning in	(b) Adjusted qualifying distributions	Net value	(c) of noncharitable-use a	ssets		(d) ribution ratio ivided by col (c))
_	2013	280	640		0	· <del>-</del>	0
	2012	80	590		0		0
	2011	939	59		0		0
	2010	414	120		0	· <del>-</del> ···	0
	2009		0		0		0
2		)	the total on	line 2 by 5, or by		3	0
4	Enter the net value of nor	ncharitable-use assets for 2014 fro	m Part X, line	e5		4	0
5	Multiply line 4 by line 3					5	0
6	Enter 1% of net investme	nt income (1% of Part I, line 27b)				6	1174
7	Add lines 5 and 6					7	1174
8		ons from Part XII, line 4 ater than line 7, check the box in F			. [ that p	8 art using a 1	65000 % tax rate. See the

Part	Excise Tax Based on Investment Income (Section 4940(a), 4940(b), 4940(e), or 4948—see it	<u>nstru</u>	<u>ictio</u>	<u>ns)</u>
1a	Exempt operating foundations described in section 4940(d)(2), check here and enter "N/A" on line 1.	_		
h	Date of ruling or determination letter: (attach copy of letter if necessary—see instructions)  Domestic foundations that meet the section 4940(e) requirements in Part V, check  1		1174	
b	here ▶ □ and enter 1% of Part I, line 27b		1174	<del>                                     </del>
С	All other domestic foundations enter 2% of line 27b. Exempt foreign organizations enter 4% of Part I, line 12, col. (b).			
2	Tax under section 511 (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-)		0	
3	Add lines 1 and 2		1174	
4	Subtitle A (Income) tax (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-)			
5	Tax based on investment income. Subtract line 4 from line 3. If zero or less, enter -0		1174	
6	Credits/Payments:			
a	2014 estimated tax payments and 2013 overpayment credited to 2014 6a			
b	Exempt foreign organizations—tax withheld at source 6b  Tax paid with application for extension of time to file (Form 8868) . 6c			
c d	Backup withholding erroneously withheld 6d			
7	Total credits and payments. Add lines 6a through 6d			
8	Enter any penalty for underpayment of estimated tax. Check here if Form 2220 is attached			
9	Tax due. If the total of lines 5 and 8 is more than line 7, enter amount owed ▶ 9		1174	
10	Overpayment. If line 7 is more than the total of lines 5 and 8, enter the amount overpaid > 10			
11	Enter the amount of line 10 to be Credited to 2015 estimated tax ► Refunded ► 11			
	VII-A Statements Regarding Activities		Vaa	N.
1a	During the tax year, did the foundation attempt to influence any national, state, or local legislation or did it participate or intervene in any political campaign?	4.0	Yes	No ✓
b	Did it spend more than \$100 during the year (either directly or indirectly) for political purposes (see	1a		
•	Instructions for the definition)?	1b		1
	If the answer is "Yes" to 1a or 1b, attach a detailed description of the activities and copies of any materials			<u> </u>
	published or distributed by the foundation in connection with the activities.			
С	Did the foundation file Form 1120-POL for this year?	1c		✓
d	Enter the amount (if any) of tax on political expenditures (section 4955) imposed during the year:  (1) On the foundation. ▶ \$  (2) On foundation managers. ▶ \$			,
е	Enter the reimbursement (if any) paid by the foundation during the year for political expenditure tax imposed on foundation managers. ▶ \$			
2	Has the foundation engaged in any activities that have not previously been reported to the IRS?	2		<b>✓</b>
3	Has the foundation made any changes, not previously reported to the IRS, in its governing instrument, articles of incorporation, or bylaws, or other similar instruments? If "Yes," attach a conformed copy of the changes	3		, .
4a	Did the foundation have unrelated business gross income of \$1,000 or more during the year?	4a		
b	If "Yes," has it filed a tax return on <b>Form 990-T</b> for this year?	4b		
5	Was there a liquidation, termination, dissolution, or substantial contraction during the year?	5		1
	If "Yes," attach the statement required by General Instruction T.			-
6	Are the requirements of section 508(e) (relating to sections 4941 through 4945) satisfied either:			
	By language in the governing instrument, or			,
	• By state legislation that effectively amends the governing instrument so that no mandatory directions that conflict with the state law remain in the governing instrument?			
7	· · ·	6 7	<b>✓</b>	
7 8a	Did the foundation have at least \$5,000 in assets at any time during the year? If "Yes," complete Part II, col. (c), and Part XV Enter the states to which the foundation reports or with which it is registered (see instructions)		_	
ou	Enter the states to which the foundation reports of with which it is registered (see instructions)			
b	If the answer is "Yes" to line 7, has the foundation furnished a copy of Form 990-PF to the Attorney General	Į I		
	(or designate) of each state as required by General Instruction G? If "No," attach explanation	8b	1	
9	Is the foundation claiming status as a private operating foundation within the meaning of section 4942(j)(3) or			
	4942(j)(5) for calendar year 2014 or the taxable year beginning in 2014 (see instructions for Part XIV)? If "Yes," complete Part XIV	9		✓
10	Did any persons become substantial contributors during the tax year? If "Yes," attach a schedule listing their			
	names and addresses	10		1

Par	Statements Regarding Activities (continued)						
11	At any time during the year, did the foundation, directly or indirectly, own a controlled entity within the meaning of section 512(b)(13)? If "Yes," attach schedule (see instructions)	11		<b>✓</b>			
12	Did the foundation make a distribution to a donor advised fund over which the foundation or a disqualified person had advisory privileges? If "Yes," attach statement (see instructions)			1			
13	Did the foundation comply with the public inspection requirements for its annual returns and exemption application?	12	<b>✓</b>	•			
10	Website address ► N/A	13		<u> </u>			
14		0) 526	4911				
	Located at ▶ PO BOX 450, CHESTER, CT ZIP+4 ▶ 0	6412-0	450				
15	Located at ▶ PO BOX 450, CHESTER, CT ZIP+4 ▶ 06  Section 4947(a)(1) nonexempt charitable trusts filing Form 990-PF in lieu of Form 1041—Check here and enter the amount of tax-exempt interest received or accrued during the year ▶ 15						
16	At any time during calendar year 2014, did the foundation have an interest in or a signature or other authority over a bank, securities, or other financial account in a foreign country?	16	Yes	No ✓			
	See the instructions for exceptions and filing requirements for FinCEN Form 114, (formerly TD F 90-22.1). If			<u> </u>			
	"Yes," enter the name of the foreign country			•			
Par	VII-B Statements Regarding Activities for Which Form 4720 May Be Required	L					
	File Form 4720 if any item is checked in the "Yes" column, unless an exception applies.		Yes	No			
1a			-				
	(1) Engage in the sale or exchange, or leasing of property with a disqualified person?						
	disqualified person?	.					
	(3) Furnish goods, services, or facilities to (or accept them from) a disqualified person?			}			
	(4) Pay compensation to, or pay or reimburse the expenses of, a disqualified person? ☐ Yes ✓ No  (5) Transfer any income or assets to a disqualified person (or make any of either available for						
	the benefit or use of a disqualified person)?						
	(6) Agree to pay money or property to a government official? (Exception. Check "No" if the foundation agreed to make a grant to or to employ the official for a period after termination of government service, if terminating within 90 days.)						
b	If any answer is "Yes" to 1a(1)–(6), did <b>any</b> of the acts fail to qualify under the exceptions described in Regulations						
	section 53.4941(d)-3 or in a current notice regarding disaster assistance (see instructions)?	1b					
	Organizations relying on a current notice regarding disaster assistance check here						
С	Did the foundation engage in a prior year in any of the acts described in 1a, other than excepted acts, that were not corrected before the first day of the tax year beginning in 2014?	1c		. ✓			
2	Taxes on failure to distribute income (section 4942) (does not apply for years the foundation was a private operating foundation defined in section 4942(j)(3) or 4942(j)(5)):						
а	At the end of tax year 2014, did the foundation have any undistributed income (lines 6d and 6e, Part XIII) for tax year(s) beginning before 2014?						
	If "Yes," list the years ▶ 20 , 20 , 20 , 20						
b	Are there any years listed in 2a for which the foundation is <b>not</b> applying the provisions of section 4942(a)(2) (relating to incorrect valuation of assets) to the year's undistributed income? (If applying section 4942(a)(2) to						
	all years listed, answer "No" and attach statement—see instructions.)	2b		1			
С	If the provisions of section 4942(a)(2) are being applied to <b>any</b> of the years listed in 2a, list the years here.  ▶ 20, 20, 20, 20						
3a	Did the foundation hold more than a 2% direct or indirect interest in any business enterprise at any time during the year?						
b	If "Yes," did it have excess business holdings in 2014 as a result of (1) any purchase by the foundation or						
~	disqualified persons after May 26, 1969; (2) the lapse of the 5-year period (or longer period approved by the Commissioner under section 4943(c)(7)) to dispose of holdings acquired by gift or bequest; or (3) the lapse of						
	the 10-, 15-, or 20-year first phase holding period? (Use Schedule C, Form 4720, to determine if the						
	foundation had excess business holdings in 2014.)	3b					
4a	Did the foundation invest during the year any amount in a manner that would jeopardize its charitable purposes?	4a		✓			
b	Did the foundation make any investment in a prior year (but after December 31, 1969) that could jeopardize its charitable purpose that had not been removed from jeopardy before the first day of the tax year beginning in 2014?	4b		. 🗸			

D	4
Page	1

Par	VIES Statements Regarding Activities	S TOF V	vnich Form	4/20	may be H	equire	e <b>a</b> (contil	<u>1uea)</u>			
5a	During the year did the foundation pay or incur a	-									
	(1) Carry on propaganda, or otherwise attempt to influence legislation (section 4945(e))? .   Yes  No									'	
	(2) Influence the outcome of any specific public election (see section 4955); or to carry on,										
	directly or indirectly, any voter registration drive?								1		ļ
	(3) Provide a grant to an individual for travel, stu	dy, or	other similar	purpos	es?		☐ Yes	✓ No			
	(4) Provide a grant to an organization other than						1		-	·	l
	section 4945(d)(4)(A)? (see instructions)						☐ Yes	✓ No			
	(5) Provide for any purpose other than religious										
	purposes, or for the prevention of cruelty to						_	✓ No	1		
b	If any answer is "Yes" to 5a(1)-(5), did any of the							nbed in	j		_
	Regulations section 53.4945 or in a current notice	_	-		•	uctions	)?	• •	5b		
	Organizations relying on a current notice regardi	_									
С	If the answer is "Yes" to question 5a(4), does to				-						,
	because it maintained expenditure responsibility		-				☐ Yes	☐ No			
_	If "Yes," attach the statement required by Regula										
6a	,		•	-		emiums	_	_			
	on a personal benefit contract?						∐ Yes	_ ✓ No	1 .		
b	Did the foundation, during the year, pay premiun	ns, dire	ectly or indire	ctly, on	a personal	penefi	t contract	? .	6b		<b>√</b>
_	If "Yes" to 6b, file Form 8870.				. 11 1			<b></b>			
	At any time during the tax year, was the foundation a						∐ Yes	. ✓ No	1		-
	If "Yes," did the foundation receive any proceeds  VIII Information About Officers, Direc								7b	222	
rar	and Contractors	wis,	irustees, r	Junua	LIOII IVIAII	ayers,	riigiliy r	alu Li	itipioy	ces,	
1	List all officers, directors, trustees, foundation	n mana	agers and th	eir con	nnensation	ı (see i	nstruction	ns).			
			e, and average		mpensation		Contribution		(e) Expe	200 200	
	(a) Name and address		rs per week ed to position	(if r	not paid, iter -0-)		oyee benefit erred compe			allowar	
CAPIT	AL GUARDIAN TRUST COMPANY										
	HOPE ST, LOS ANGELES, CA 90071	CUSTO	DDIAN 6 HRS		10797			0			0
	CKENNA	000.									
32 MAI	N ST, HANOVER, NH 03755	TRUST	TEE 5 HRS		10000			o			0
	N MINER COOK						_			_	
ESSEX		TRUST	EE 1 HR		0	_		0			0
GREG	DRY M COOK									_	
PO BO	X 450, CHESTER, CT 06412		EE 1 HR		.0			0			0
2	Compensation of five highest-paid employee	es (oth	er than thos	se incl	uded on li	ne 1-	see instr	uctions	s). If no	one,	enter
	"NONE."										
			(b) Title, and a				(d) Contribu		(e) Expe	nse ac	count
(	a) Name and address of each employee paid more than \$50,00	0	hours per v devoted to pe		(c) Comper	nsation	plans and o	deferred	other	allowan	ces
			· ·			_	compens	ation			
NONE		<b></b>	ł								
			-		<u> </u>			-			
<b></b> -											
			-								
			-							_	
Total	number of other employees paid over \$50,000 .					<del></del>		. ▶			

Part VIII	Information About Officers, Directors, Trustees, Foundation Managers, Highly Paid Emand Contractors (continued)	iployees,
3 Five I	nighest-paid independent contractors for professional services (see instructions). If none, enter "NON	E."
	(a) Name and address of each person paid more than \$50,000 (b) Type of service	(c) Compensation
NONE		
Total numbe	er of others receiving over \$50,000 for professional services	
Part IX-A	Summary of Direct Charitable Activities	
	idation's four largest direct charitable activities during the tax year. Include relevant statistical information such as the number of s and other beneficiaries served, conferences convened, research papers produced, etc.	Expenses
1		
•		
2		
3		
4		
4		
Part IX-B	Summary of Program-Related Investments (see instructions)	I
	two largest program-related investments made by the foundation during the tax year on lines 1 and 2	Amount
1		-
2		
All other pro	gram-related investments. See instructions	
•		
J		
<b>Fotal.</b> Add li	nes 1 through 3	

Page	8

Part	<del></del>	ign fou	ndations,
1	see instructions.)		
ı	Fair market value of assets not used (or held for use) directly in carrying out charitable, etc., purposes:		
_	Average monthly fair market value of securities	4	
a b	Average of monthly cash balances	1a	
C	Fair market value of all other assets (see instructions)	1c	<del></del>
d	Total (add lines 1a, b, and c)	1d	<del></del>
e	Reduction claimed for blockage or other factors reported on lines 1a and	<del>'`</del>	<u> </u>
_	1c (attach detailed explanation)		
2	Acquisition indebtedness applicable to line 1 assets	2	
3	Subtract line 2 from line 1d	3	<del>-</del>
4	Cash deemed held for charitable activities. Enter 1 1/2 % of line 3 (for greater amount, see		
	instructions)	4	
5	Net value of noncharitable-use assets. Subtract line 4 from line 3. Enter here and on Part V, line 4	5	
6	Minimum investment return. Enter 5% of line 5	6	
Part	XI Distributable Amount (see instructions) (Section 4942(j)(3) and (j)(5) private operating f and certain foreign organizations check here ► □ and do not complete this part.)	ounda	tions
1	Minimum investment return from Part X, line 6	1	
2a	Tax on investment income for 2014 from Part VI, line 5		
b	Income tax for 2014. (This does not include the tax from Part VI.) 2b	]	
С	Add lines 2a and 2b	2c	1174
3	Distributable amount before adjustments. Subtract line 2c from line 1	3	
4	Recoveries of amounts treated as qualifying distributions	4	
5	Add lines 3 and 4	5	
6	Deduction from distributable amount (see instructions)	6	
7	Distributable amount as adjusted. Subtract line 6 from line 5. Enter here and on Part XIII,		
	line 1	7	0
Part	XII Qualifying Distributions (see instructions)		
1	Amounts paid (including administrative expenses) to accomplish charitable, etc., purposes:		-
а	Expenses, contributions, gifts, etc.—total from Part I, column (d), line 26	1a	65000
b	Program-related investments—total from Part IX-B	1b	
2	Amounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc.,		
	purposes	2	_
3	Amounts set aside for specific charitable projects that satisfy the:		
а	Suitability test (prior IRS approval required)	3a	<u></u>
b	Cash distribution test (attach the required schedule)	3b	
4	Qualifying distributions. Add lines 1a through 3b. Enter here and on Part V, line 8, and Part XIII, line 4	4	65000
5	Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment income.	_	
_	Enter 1% of Part I, line 27b (see instructions)	5	1174
6	Adjusted qualifying distributions. Subtract line 5 from line 4	6	63826
	<b>Note.</b> The amount on line 6 will be used in Part V, column (b), in subsequent years when calculating qualifies for the section 4940(e) reduction of tax in those years.	g wnetr	ner the foundation

'art	Undistributed income (see instruction	ons)		<u>-</u>	
1	Distributable amount for 2014 from Part XI, line 7	(a) Corpus	(b) Years prior to 2013	<b>(c)</b> 2013	( <b>d)</b> 2014
_					_
2	Undistributed income, if any, as of the end of 2014: Enter amount for 2013 only				}
a b	Total for prior years: 20 ,20 ,20			0	
3	Excess distributions carryover, if any, to 2014:				
о a	From 2009 97500				
b	From 2010				
C	From 2011				
d	From 2012				
e	From 2013				
f	Total of lines 3a through e	243920			
4	Qualifying distributions for 2014 from Part XII, line 4: ► \$ 65000	243920			
а	Applied to 2013, but not more than line 2a .				
b	Applied to undistributed income of prior years (Election required—see instructions)				
С	Treated as distributions out of corpus (Election required—see instructions)				
d	Applied to 2014 distributable amount				39027
е	Remaining amount distributed out of corpus				
5	Excess distributions carryover applied to 2014				
	(If an amount appears in column (d), the same amount must be shown in column (a).)				
6	Enter the net total of each column as indicated below:				
а	Corpus. Add lines 3f, 4c, and 4e. Subtract line 5				
b	Prior years' undistributed income. Subtract line 4b from line 2b				
С	Enter the amount of prior years' undistributed		-		•
	income for which a notice of deficiency has been issued, or on which the section 4942(a)				
	tax has been previously assessed				,
d	Subtract line 6c from line 6b. Taxable amount—see instructions				(
е	Undistributed income for 2013. Subtract line				
	4a from line 2a. Taxable amount—see instructions				
f	Undistributed income for 2014. Subtract lines		**********		
	4d and 5 from line 1. This amount must be distributed in 2015				
7	Amounts treated as distributions out of corpus				
	to satisfy requirements imposed by section				
	170(b)(1)(F) or 4942(g)(3) (Election may be				
	required—see instructions)				- E
8	Excess distributions carryover from 2009 not				
	applied on line 5 or line 7 (see instructions) .	97500			·
9	Excess distributions carryover to 2015.				
	Subtract lines 7 and 8 from line 6a	146420			
0	Analysis of line 9:				
а	Excess from 2010 41420	ļ			;
b	Excess from 2011 95000	į			
C	Excess from 2012 10000				,
d	Excess from 2013				
е	Excess from 2014 25973				

NO

Part	XIV Private Operating Founda	tions (see instru	ctions and Part	VII-A, question 9	9)	
1a	If the foundation has received a ruling foundation, and the ruling is effective fo					
b	Check box to indicate whether the four	ndation is a private	operating foundate	tion described in se	ection	3) or 4942(j)(5)
	Enter the lesser of the adjusted net	Tax year	T	Prior 3 years		
	income from Part I or the minimum	(a) 2014	<b>(b)</b> 2013	(c) 2012	(d) 2011	(e) Total
	investment return from Part X for each year listed					
b	85% of line 2a					
	Qualifying distributions from Part XII,	<del></del> -				
_	line 4 for each year listed					
d	Amounts included in line 2c not used directly					
	for active conduct of exempt activities					
е	Qualifying distributions made directly					
_	for active conduct of exempt activities.					
	Subtract line 2d from line 2c					
3	Complete 3a, b, or c for the					<del></del>
	alternative test relied upon:					
а	"Assets" alternative test—enter:					
	(1) Value of all assets					
	(2) Value of assets qualifying under	,				
	section 4942(j)(3)(B)(i)					
b	"Endowment" alternative test-enter 2/3					-
	of minimum investment return shown in Part X, line 6 for each year listed					
С	"Support" alternative test-enter:					
	(1) Total support other than gross					
	investment income (interest,				!	
	dividends, rents, payments on					
	securities loans (section 512(a)(5)), or royalties)					
	(2) Support from general public					
	and 5 or more exempt					
	organizations as provided in section 4942(j)(3)(B)(iii)					
	(3) Largest amount of support from					
	an exempt organization					
	(4) Gross investment income					
Part		n (Complete th	is part only if the	ne foundation h	ad \$5,000 or mo	ore in assets at
	any time during the year –	see instruction	is.)			
1	Information Regarding Foundation		<u> </u>			
а	List any managers of the foundation v					by the foundation
	before the close of any tax year (but o	nly if they have co	ontributed more th	an \$5,000). (See s	ection 507(d)(2).)	
NONE						
b	List any managers of the foundation					ge portion of the
	ownership of a partnership or other er	ntity) of which the	foundation has a 1	10% or greater inte	erest.	
NONE						
2	Information Regarding Contribution					
	Check here ▶ ☐ if the foundation					
	unsolicited requests for funds. If the fo		gifts, grants, etc. (	(see instructions) t	o individuals or or	ganizations under
	other conditions, complete items 2a, b		<del> </del>			<del></del>
а	The name, address, and telephone nu	mber or e-mail ad	dress of the perso	on to whom application	ations should be a	ddressed:
	DRY M COOK, PO BOX 450, CHESTER, C					
b	The form in which applications should	be submitted and	l information and i	materials they sho	uld include:	
	PLICATION MUST BE OBTAINED				_	
	Any submission deadlines:					
<u>NO</u> d	Any restrictions or limitations on aw	arde euch ac h	/ geographical or	eas charitable fis	alde kinde of inct	itutions or other
u	factors:	arus, sucri as Dy	yeograpiiida ar	cas, chantable lie	aus, kilius Ul INST	itutions, or other

Part XV Supplementary Information (cont 3 Grants and Contributions Paid During t	inued)	od for Eur	ture Dovment	
· · · · · · · · · · · · · · · · · · ·	If recipient is an individual,		ture rayment	1
Recipient Name and address (home as business)	show any relationship to any foundation manager	Foundation status of	Purpose of grant or contribution	Amount
Name and address (home or business)	or substantial contributor	recipient		
a Paid during the year				
FRIENDS OF THE GARVAN INSTITUTE OF MEDICAL RESEARCH, c/o CASTLE HARLAN INC, 150 E. 58th ST,			EDUCATION & RESEARCH	2500
NEW YORK, NY 10155				
INSTITUTE FOR NONPROFIT NEWS 17514 VENTURE BLVED #103		501(c)(3)	EDUCATION	4000
ENCINO, CA 91316				
				:
		:		
Total	<u> </u>		▶ 3a	65000
<b>b</b> Approved for future payment				
Total			▶ 3b	

nte	ter gross amounts unless otherwise indicated.		siness income	Excluded by sect	on 512, 513, or 514	1
		(a) Business code	(b) Amount	(c) Exclusion code	(d) Amount	(e) Related or exemp function income (See instructions.)
1	Program service revenue:					ļ <u>.</u>
	a			ļ		
	b				i 	
	C					ļ
	d			ļ		
	e					
	T					
	g Fees and contracts from government agend					1
2	Membership dues and assessments	· · · · · · · · · · · · · · · · · · ·				
3	, ,					
4		•				
5	,					
	a Debt-financed property					
_	<b>b</b> Not debt-financed property					ļ
6	Net rental income or (loss) from personal prope	*				
7			<u> </u>	ļ		ļ <u> </u>
8	` ,	•				ļ
9	` ,					
10	, ,	•				
11	Other revenue: a					
	b					
	c					
	d	_				
	e		<u> </u>	ļ		
	Subtotal. Add columns (b), (d), and (e)					L
					13	
	e worksheet in line 13 instructions to verify calcul		£ E	+ D		
_	Relationship of Activities to the No. Explain below how each activity for w					
LIII	ne No. Explain below how each activity for w accomplishment of the foundation's exemption. ■	hich income is repo of purposes (other than	ted in column by providing fur	(e) of Part XVI ads for such purp	-A contributed i oses) (See instru	mportantly to the ctions.)
		_				
		<del></del>				

		Exempt Or	ganizations											
	in se		directly or indirectly ne Code (other than										Yes	No
а	Trans	sfers from the rer	porting foundation to	o a noncha	aritable exem	not organ	nization (	of:						
_		-										1a(1)		<b>√</b> 1
														<b>▼</b>
									• •			1a(2)		<b>_</b>
		r transactions:										:		
	(1) S	ales of assets to	a noncharitable exe	empt orgai	nization .							1b(1)		<b>✓</b>
	(2) P	urchases of asse	ets from a noncharit	able exem	ıpt organizatı	on						1b(2)		✓
	(3) R	ental of facilities	, equipment, or othe	er assets								1b(3)		<b>✓</b>
			rrangements									1b(4)		<b>√</b>
		oans or loan gua										1b(5)		<u>✓</u>
		-	ervices or membersh									1b(6)		<del>`</del>
				-	-							1c		<u> </u>
		-	quipment, mailing li		•		-					$\overline{}$		
			of the above is "Ye											
			ther assets, or servi											
	value	in any transaction	on or sharing arrang	gement, sh	ow in colum	n (d) the	value of	the goods,	othe	r asse	ts, or se	rvices	recei	ved.
(a) Line	no (	(b) Amount involved	(c) Name of nonc	harıtable exer	mpt organization	1	(d) Descrip	ption of transfe	ers, trar	saction	ns, and sha	ring arra	angeme	ents
					<u>-</u> -	_								
											•			
				<u>-</u>										
								-						
	-+													
						-								
	[_				_									
	_													
										_				
							•				•			
					<del></del>									
				· · · ·						-				
	desci	ribed in section 5 es," complete the	ectly or indirectly af 501(c) of the Code (c following schedule	other than	section 501(	c)(3)) or		n 527? .	• •	• •	[		<b>V</b>	No ——
		(a) Name of organ	ιΖαιΙΟΠ	ļ (	(b) Type of organ	iization			(c) Des	criptio	of relation	isnip		
			-	ļ										
								. =-						
			declare that I have examine							best of	my knowled	lge and b	elief, it	ıs true,
Sign	corre	ct, and complete Decla	aration of preparer (other th	an taxpayer) is	s based on all info	rmation of v	which prepa	rer has any kno	wledge		May the IF	RS discu	ss this	return
lere		19.	n link	1	4-8-16	TRU	STEE				with the p	reparer	shown I	below
.016	Sign	ature of officer or trus	stee		Date	Title				—	(see instruc	ctions)? [	∠]Yes[	_No
		Prior Type preparer			signature			Date			_ 10	TIN		
Paid		_		\ \rac{1}{\chinterlinet}}}}} \chiintitititititititititititititititititi	s signature	1 .		, ,	,		( <b>∀</b> )			_
repa	rer	JUDITH A NAGLI	<u> </u>	_ Mud	THUY	lagh		4/4/14	0	self-e	nployed	P01	<u> 39725</u>	9
Jse C		Firm's name	MACNEIL & NAGLE			<i>,</i>		, ,	Fırm's	EIN >	. (	06-149	9755	
		Firm's address ▶	PO BOX 800, OLD SA	YBROOK,	CT 06475				Phone	e no _		0-581-		
											Fo	orm <b>99</b> 0	D-PF	(2014)

Information Regarding Transfers To and Transactions and Relationships With Noncharitable

JOHN BROWN COOK FOUNDATION INC.

DETAIL OF SHORT-TERM CAPITAL GAINS AND LOSSES

Capital Gain/Loss Detail	Date Acquired	Date Sold	Gross Sales Price	Cost or Other Basis	Adjustment Code(s)	Amount of Adjustment	Gain or Loss
20. AGIOS PHARNACEUTICALS INC	02/11/2015	09/09/2015	1,796.74	2,203.70			-406.96
105. CENOVUS ENERGY INC US\$	07/02/2014	12/16/2014	1,789.52	3,404.19			-1,614.67
100. CENOVUS ENERGY INC US\$	08/06/2014	07/10/2015	1,442.54	3,139.24			-1,696.70
300. CENOVUS ENERGY INC US\$	02/25/2015	07/13/2015	4,258.61	7,425.81			-3,167.20
35. CENOVUS ENERGY INC US\$	02/25/2015	07/14/2015	504.76	626.08			-121.32
40. CHEVRON CORP	02/02/2015	09/28/2015	3,056.94	4,211.58			-1,154.64
100. CONOCOPHILLIPS		09/24/2015	4,782.00	6,618.08			-1,836.08
70. CONOCOPHILLIPS		09/25/2015	3,304.40	4,464.57			-1,160.17
156.952 EUROPACIFIC GROWTH FUND CL F2	12/26/2014	10/07/2015	7,445.80	7,453.66			-7.86
20. MOSAIC CO/THE	02/12/2015	06/25/2015	924.77	1,041.87			-117.10
15. ROSS STORES INC	01/07/2014	12/18/2014	1,386.12	1,110.30			275.82
55. WYNN RESORTS LTD	08/13/2015	09/22/2015	3,524.63	5,749.40			-2,224.77
Totals			34,216,83	47,448.48			-13,231,65



STATEMENT 8

JOHN BROWN COOK FOUNDATION INC.

DETAIL OF LONG-TERM CAPITAL GAINS AND LOSSES

	Date	Date	Gross Sales	her	Adjustment	Amount of	Gain or
Capital Gain/Loss Detail	Acquired	Sold	Price	Basis	Code(s)	Adjustment	Loss
45. ABBUTE INC	04/03/2014	10/14/2015	2,424.24	2,401.72			22.52
55. ABBVIR INC	04/03/2014	10/15/2015	2,981.24	2,923.12			58.12
35. AIR PRODUCTS & CHEMICALS INC	04/01/2004	01/29/2015	5,118.59	1,768.69			3,349.90
30. AIR PRODUCTS & CHEMICALS INC	04/01/2004	04/20/2015	4,541.68	1,516.02			3,025.66
50. AIR PRODUCTS & CHEMICALS INC	04/01/2004	06/24/2015	7,180.93	2,526.70			4,654.23
70. AMERICAN TOWER CORP	11/01/2013	01/29/2015	6,869.89	4,720.74			2,149.15
265. BB&T CORP	05/29/2013	02/12/2015	10,126.87	7,437.16			2,689.71
70. B/B AEROSPACE INC	01/13/2014	06/23/2015	4,038.58	3,644.08			394.50
	04/18/2012	06/03/2015	4,609.21	2,353.10			2,256,11
4	04/13/2012	08/12/2015	12,772.79	6,312.28			6,460.51
ı	02/24/2010	08/21/2015	8,884.70	3,504.00			5,380.70
t	06/30/2014	07/14/2015	432.65	971.59			-538.94
	04/21/2014	09/28/2015	1,528.47	2,485.67			-957.20
140, COMCAST CORP CL A (NEW)	02/01/2011	01/29/2015	7,534.01	3,075.72			4,458.29
30. COMCAST CORP CL A (NEW)	10/25/2010	04/27/2015	1,764.99	594.46			1,170.53
20. COMCAST CORP CL A (NEW)	10/25/2010	05/06/2015	1,160.50	396.31			764.19
30. CONOCOPHILLIPS	05/20/2014	09/25/2015	1,416.18	2,348.41			-932.23
5. CONOCOPHILLIPS	05/07/2014	09/29/2015	231.55	390.16			-158.61
90. DAIMLER AG ADR	03/31/2014	08/17/2015	7,583.03	7,651.71			-68.68
55. DANAHER CORP	02/03/2011	01/29/2015	4,565.58	1,976.18			2,589.40
60. EMBRSON ELECTRIC CO	04/01/2004	01/28/2015	3,407.37	1,798.12			1,609.25
159.237 EUROPACIFIC GROWTH FUND CL P2	06/25/2007	10/07/2015	7,554.20	8,192.61			-638.41
75. EXPRESS SCRIPTS HOLDING CO	02/08/2013	01/29/2015	6,103.22	4,122.93			1,980.29
100. GILEAD SCIENCES INC	02/02/2012	01/27/2015	10,590.71	2,465.93			8,124.78
65. GILEAD SCIENCES INC	02/02/2012	01/29/2015	6,733.60	1,602.85			5,130.75
15. GILEAD SCIENCES INC	02/02/2012	07/10/2015	1,708.40	369.35			1,339.05
10. GOOGIR INC CL. A	04/01/2008	01/29/2015	5,071.68	2,302.30			2,769.38
.049 GOOGLE INC CL C	05/09/2007	05/04/2015	26.11	11.48			14.63
50. HALLIBURION CO	07/01/2013	02/10/2015	2,126.72	2,125.46			1.26
15. HOME DEPOT INC	09/20/2011	05/15/2015	1,684.14	518.87			1,165.27
. 11 IRON MOUNTAIN INC	04/14/2011	11/14/2014	4.17	3.74			0.43
50. IRON MOUNTAIN INC	04/14/2011	12/03/2014	1,921.34	1,701.83			219.51
90. IRON MOUNTAIN INCORPORATED	11/21/2012	02/05/2015	3,679.42	2,947.85			731.57
Totals							

JSA XG900 3 000

JOHN BROWN COOK FOUNDATION INC.

DETAIL OF LONG-TERM CAPITAL GAINS AND LOSSES

02/24/2012         04/01/2015         2,523.05         1,855.82           02/13/2013         06/24/2015         2,225.07         1,900.95           01/09/2012         06/25/2015         2,225.07         1,900.95           01/09/2013         06/25/2015         2,285.75         1,313.18           01/09/2014         02/25/2015         2,285.75         2,306.23           01/09/2013         06/25/2015         2,080.73         2,396.23           01/13/2014         02/25/2015         2,080.73         2,396.23           02/12/2013         06/30/2015         2,162.17         1,101.44           09/07/2010         09/25/2015         2,162.17         1,101.44           09/07/2010         09/25/2015         2,459.27         2,055.41           09/07/2010         09/25/2015         2,459.27         2,055.41           09/07/2010         09/25/2015         2,630.47         1,103.44           09/07/2010         09/25/2015         2,630.47         1,139.43           10/08/2010         01/26/2015         2,630.47         1,139.43           10/08/2010         01/26/2015         2,630.47         1,507.03           10/08/2010         01/26/2015         3,707.31         5,261.24	Capital Gain/Loss Detail	Date Accuired	Sold	Gross Sales Price	Cost or Other Basis	Adjustment Code(s)	Amount of Adjustment	Cain or
1,000   1,00								
JABIL CIRCUIT INC	70. IRON MOUNTAIN INCORPORATED	02/24/2012	04/01/2015	2,523.85	1,855.82			668.03
TATA NO.	100. JABIL CIRCUIT INC	02/13/2013	06/24/2015	2,225.07	1,900.95			324.12
CALA INC         CALES/2015         2,285.75         2,2           CALA INC         CALA INC         CALA INC         CALA INC         CALA INC           RONSARTO ON USA         OP/13/12012         CALS/2015         3,023.17         2,2           RONSARTO CO/FHIB         11/05/2012         CALS/2015         2,023.17         1.1         2,0           MOSALE CO/FHIB         02/12/2013         CALS/2015         2,080.73         2,0         1.1         2,0         1.1         2,0         1.1         2,0         1.1         2,0         1.1         2.1         1.1         2.1         1.1         2.1         1.1         2.1         1.1         2.1         1.1         2.1         1.1         2.1         1.1         2.1         1.1         2.1         1.1         2.1         1.1         2.1         1.1         2.1         1.1         2.1         1.1         2.1         1.1         2.1         1.1         2.1         1.1         2.1         2.1         1.1         2.1         1.1         2.1         1.1         2.1         1.1         2.1         1.1         2.1         1.1         2.1         1.1         2.1         2.1         1.1         2.1         1.1         2.1	65. JABIL CIRCUIT INC	11/07/2012	06/25/2015	1,431.40	1,133.18			298.22
KLA INC         CONTAIN TOWN         OP/13/2015         3,072,67         3,072,67           MONGARATO CO NEW COM         CONTAIN TOWN         OP/21/2012         3,072,601         3,072,67         3,072,67           MOSALC CO/THE         11/52/2013         06/21/2015         3,072,601         2,080,73         2	45. JOHNSON CONTROLS INC	01/09/2014	02/25/2015	2,285.75	2,306.23			-20.48
MORSANTO CO NEW COM         COMPANTO CO NEW COM         COMPANTO CO NEW COM         COMPANTO CO NEW COM         COMPANTO CO NEW CONTRIBE         COMPANTO CO NEW CONTRIBE         3 023.17         2.080.73         <	80. KLX INC	01/13/2014	02/13/2015	3,072.67	3,139.44			-66.77
NOBLE ENERGY INC   NOBLE ENERG	25. MONSANTO CO NEW COM	09/21/2012	02/09/2015	3,023.17	2,274.12			749.05
NURE INC CL B         OG/12/2013         OG/30/2015         2,162.17         1.1           NOBLE ENERCY INC         OG/07/2013         OG/07/2015         3,394.76         3,394.77         3,394.77         3,394.77         3,394.77         3,394.77         3,394.77         3,394.77         3,394.77         3,394.77         3,394.77         3,394.77         3,394.77         3,394.77         3,394.77         3,394.77         3,394.77         3,394.77         4,49.08         3,394.77         4,49.08         3,394.77         4,49.08         3,394.77         4,49.08         3,394.77	45. MOSAIC CO/THE	11/05/2012	06/25/2015	2,080.73	2,395.58			-314.85
NOBLE ENERGY INC.         OF/07/2013         02/05/2015         3,394.76         3,394.76         3,394.76         3,394.76         3,394.76         3,394.76         3,394.76         3,394.76         3,394.76         3,394.76         2,459.27         2,000         2,459.27         2,236.21         1,236.21         2,236.21         2,236.21         1,236.21 <td></td> <td>02/12/2013</td> <td>06/30/2015</td> <td>2,162.17</td> <td>1,101.44</td> <td></td> <td></td> <td>1,060.73</td>		02/12/2013	06/30/2015	2,162.17	1,101.44			1,060.73
NOBLE ENERGY INC         09/07/2010         05/15/2015         2,459.27         2,2           NOBLE ENERGY INC         09/07/2010         05/07/2010         05/05/2015         1,648.03         2,2           NOBLE ENERGY INC         09/07/2010         09/05/2015         1,648.03         2,2           NOBLE ENERGY INC         00/05/2015         1,648.03         2,2           ORACLE CORP         00/05/2015         1,744.56         1,7           ORACLE CORP         10/08/2010         01/12/2015         1,744.56         1,1           ORACLE CORP         09/22/2013         01/12/2015         2,630.47         1,1           ORACLE CORP         09/22/2013         10/140.09         6,2           PETZER INC         00/22/2013         10/140.09         6,2           ROSS STORES INC         00/22/2013         10/140.09         1,149.08         2,2           ROSS STORES INC         00/22/2013         10/24/2013         1,149.08         1,149.08         1,1           SCRIPE INC         00/22/2013         01/20/2013         01/20/2015         1,100.03         1,100.03         1,100.03         1,100.03         1,100.03         1,100.03         1,100.03         1,100.03         1,100.03         1,100.03         1,100.03		06/07/2013	02/02/2015	3,394.76	3,327.32			67.44
NOBILE ENERGY INC         09/07/2010         09/07/2010         09/07/2010         1,648.03         2.           NOBILE ENERGY INC         09/07/2010         09/07/2010         09/07/2010         09/07/2010         2,367.11         2.           NORPOLK SOUTHERN CORP         02/11/2011         02/06/2015         3,239.57         2.           ORACLE CORP         10/08/2010         01/13/2015         1,744.56         1.           ORACLE CORP         10/08/2010         01/13/2015         2,650.77         1.           PORACLE CORP         09/02/2011         01/13/2015         2,650.77         1.           PORACLE CORP         09/02/2011         01/13/2015         2,650.77         1.           PORACLE CORP         09/02/2011         01/13/2015         2,650.77         1.           ROSS STORES INC         00/02/2013         01/13/2015         1,740.93         6,149.08           ROSS STORES INC         CCHIANBERGER LTD         07/12/2011         01/12/2014         1,120.01         1,140.93         1,130.03           SEATTLE GENETICS INC         SEATTLE GENETICS INC         07/12/2011         02/02/2015         3,103.01         3,103.01         3,103.01           SEATTLE GENETICS INC         SEATTLE GENETICS INC         06/06/2010         0	55. NOBLE ENERGY INC	0102/01/2010	05/15/2015	2,459.27	2,025.41			433.86
NOBLE ENERGY INC         09/07/2010         09/07/2010         09/07/2010         2,367.11         2,367.11         2,367.11         2,367.11         2,367.11         2,367.11         2,367.11         2,367.11         2,367.11         2,399.57         2,399.57         2,399.57         2,399.57         2,399.57         2,399.57         2,399.57         2,399.57         2,399.57         2,399.57         2,399.57         1,344.56         1,399.57         2,399.57         1,344.56         1,399.57         1,344.56         1,399.57         1,344.56         1,399.57         1,344.56         1,399.57         1,344.56         1,344.56         1,344.56         1,344.56         1,344.56         1,344.56         1,344.56         1,344.56         1,344.56         1,344.56         1,344.65         1,344.69         2,356.77         1,344.69         2,356.77         1,344.14         1,344.69         3,344.14         3,444.69         3,349.37         3,349.37         3,349.37         3,349.37         3,349.37         3,349.37         3,349.37         3,349.37         3,349.37         3,349.37         3,349.37         3,349.37         3,349.37         3,349.38         3,349.37         3,349.38         3,349.37         3,349.38         3,349.38         3,349.39         3,349.38         3,349.38         3,349.39         3,349.3	55. NOBLE ENERGY INC	09/07/2010	09/09/2015	1,648.03	2,025.41		·	-377.38
NORPOLK SOUTHERN CORP  ORACLE C	75. NOBLE ENERGY INC	09/07/2010	09/25/2015	2,367.11	2,496.39			-129.28
ORACLE CORP         10/08/2010         01/26/2015         1,744.56         1,1           ORACLE CORP         10/08/2010         07/13/2015         2,630.47         1,1           ORACLE CORP         09/22/2010         09/02/2015         2,560.77         1,1           PFIZER INC         05/09/2011         10/12/2015         4,149.08         2,20.77           CONACLE CORP         05/09/2011         10/12/2015         4,149.08         2,20.77           CONACLE CORP         05/09/2011         10/12/2015         4,149.08         2,20.77           CONACLE CORP         05/09/2011         10/12/2015         10,740.93         6,149.08           CREATING CLE RADIO         07/12/2013         02/04/2015         1,040.32         1,10.20.22           SEATILE GENETICS INC         07/12/2011         07/12/2015         1,020.72         1,1           SEATILE GENETICS INC         07/12/2011         02/05/2015         3,030.47         4,1           SEATILE GENETICS INC         07/15/2011         02/05/2015         3,130.88         1,1           SEATILE GENETICS INC         07/15/2011         02/05/2015         3,590.47         4,1           SEATILE GENETICS INC         07/15/2014         07/10/2015         2,500.00         2,144.09 <td>30. NORPOLK SOUTHERN CORP</td> <td>02/11/2013</td> <td>02/06/2015</td> <td>3,239.57</td> <td>2,116.20</td> <td></td> <td></td> <td>1,123.37</td>	30. NORPOLK SOUTHERN CORP	02/11/2013	02/06/2015	3,239.57	2,116.20			1,123.37
10/08/Z015   07/13/Z015   2,630.47   1,1     DRACLE CORP	40. ORACLE CORP	10/08/2010	01/26/2015	1,744.56	1,119.41			625.15
PFIZER INC         OP/22/2015         2,560.77         1,1           PFIZER INC         OF/09/2011         10/12/2015         4,149.08         2,2560.77         1,1           PFIZER INC         OUALCOMA INC         11/19/2019         11/19/2015         4,149.08         2,149.08         2,149.08         2,149.08         2,149.08         2,149.08         2,149.08         2,149.08         2,149.08         2,149.08         2,149.08         2,149.08         2,149.08         2,149.08         2,149.08         2,144.09         2,144.09         2,144.09         2,144.09         2,144.09         2,144.09         2,144.09         2,144.09         2,144.09         2,144.09         2,144.09         2,144.09         2,144.09         1,149.08         2,144.09         1,149.08         2,144.09         1,149.08         2,144.09 <t< td=""><td>65. ORACLE CORP</td><td>10/08/2010</td><td>07/13/2015</td><td>2,630.47</td><td>1,788.89</td><td></td><td></td><td>841.58</td></t<>	65. ORACLE CORP	10/08/2010	07/13/2015	2,630.47	1,788.89			841.58
PFIZER INC         OS/09/2011         10/12/2015         4,149.08         2,           OUBLICOMN INC         11/19/2009         01/27/2015         10,740.93         6,           ROSS STORES INC         10/24/2013         12/18/2014         1,848.17         1,           SCHLUMBERGER LTD         02/12/2013         02/04/2015         1,705.52         1,           SCRIPPS NETWORKS INTERACTIVE CL. A         07/12/2011         12/26/2014         1,920.28         1,           SEATTLE GENETICS INC         07/12/2011         02/04/2014         1,206.201         1,206.201         1,206.201           SEATTLE GENETICS INC         08/08/2011         02/05/2014         1,920.28         1,           SEATTLE GENETICS INC         08/08/2011         02/05/2015         3,092.72         1,           SEATTLE GENETICS INC         08/08/2011         02/05/2015         3,590.47         4,           SEATTLE GENETICS INC         08/08/2011         02/05/2015         3,590.47         4,           642 SMALLCAP WORLD FUND CL FZ         12/26/2013         09/17/2015         2,500.00         2,           504 SWALLCAP WORLD FUND CL FZ         12/26/2013         09/17/2015         2,018.98         1,           TIFFANY & CO NEW         06/13/2010         06/13/2010<		09/22/2010	09/02/2015	2,560.77	1,890.61			670.16
ROSS STORES INC         11/19/2009         01/27/2015         10,740.93         6,           ROSS STORES INC         10/24/2013         12/18/2014         1,746.52         1,746.73         2,746.73 <td></td> <td>05/09/2011</td> <td>10/12/2015</td> <td>4,149.08</td> <td>2,577.50</td> <td></td> <td></td> <td>1,571.58</td>		05/09/2011	10/12/2015	4,149.08	2,577.50			1,571.58
ROSS STORES INC         IO/24/2013         12/18/2014         1,848.17         1, 848.17         1, 848.17         1, 848.17         1, 105.52         1, 105.52         1, 105.52         1, 105.52         1, 105.52         1, 105.52         1, 105.52         1, 105.52         1, 105.52         1, 105.52         1, 1, 105.52         1, 1, 105.52         1, 1, 1, 1, 1, 1, 1, 20.20         1, 1, 1, 1, 1, 20.20         1, 1, 1, 1, 1, 20.20         1, 1, 1, 1, 20.20         1, 1, 1, 1, 20.20         1, 1, 1, 1, 20.20         1, 1, 1, 1, 20.20         1, 1, 1, 1, 20.20         1, 1, 1, 1, 20.20         1, 1, 1, 1, 20.20         1, 1, 1, 1, 20.20         1, 1, 1, 20.20         1, 20.20         1, 20.20         1, 20.20         1, 20.20         1, 20.20         1, 20.20         1, 20.20         2, 2, 200.00         2, 2, 2, 2, 2, 2, 2, 2, 2, 2, 2, 2, 2, 2	150. QUALCOMM INC	11/19/2009	01/27/2015	10,740.93	6,581.77			4,159.16
SCHLOMBERGER LTD         02/12/2013         02/12/2013         1,705.52         1,1           SCRIPPS NETWORKS INTERACTIVE CL A         01/10/2014         09/23/2015         3,707.31         5,1           SEATTLE GENETICS INC         07/12/2011         12/26/2014         1,920.28         1,1           SEATTLE GENETICS INC         07/15/2011         02/03/2015         3,092.72         1,1           SEATTLE GENETICS INC         08/08/2011         02/05/2015         3,092.72         1,1           SEATTLE GENETICS INC         08/08/2011         02/05/2015         3,590.47         4,1           SEATTLE GENETICS INC         08/08/2011         02/06/2015         3,590.47         4,4           STEMENS AG ADR         04/04/2014         07/10/2015         2,500.00         2,500.00           SIEMENS AG ADR         06/25/2007         10/07/2015         2,500.00         2,500.00           STEADS INSTRUMENTS INC         06/25/2007         06/13/2015         2,114.09         1,1           VERISIGN INC         VERISIGN INC         05/11/2013         04/16/2015         2,364.23         1,2           VERISIGN INC         06/15/2015         06/15/2015         06/15/2015         2,991.15         2,991.15         2,991.15		10/24/2013	12/18/2014	1,848.17	1,505.53			342.64
SCRIPPS NETHORKS INTERACTIVE CL, A       SCRIPPS NETHORKS INTERACTIVE CL, A       1,102015       3,707.31       5,5         SEATTLE GENETICS INC       OP/12/2011       12/26/2014       1,920.28       1,1         SEATTLE GENETICS INC       OB/08/2011       02/05/2015       3,092.72       1,1         SEATTLE GENETICS INC       08/08/2011       02/06/2015       3,218.88       1,1         SEATTLE GENETICS INC       08/08/2011       02/06/2015       4,250.00       2,2         642 SWALLCAP WORLD FUND CL F2       04/04/2014       07/10/2015       2,500.00       2,2         504 SWALLCAP WORLD FUND CL F2       06/25/2007       10/07/2015       2,500.00       2,2         TEXAS INSTRUMENTS INC       06/25/2007       04/16/2015       2,018.98       1,1         TEXAS INSTRUMENTS INC       08/13/2013       04/16/2015       2,144.09       1,1         VERISIGN INC       VERISIGN INC       05/11/2013       04/15/2015       2,192.82       4,1         VERISIGN INC       02/15/2013       04/15/2015       2,991.15       2,991.15       2,991.15       2,291.15		02/12/2013	02/04/2015	1,705.52	1,571.61			133.91
SEATTLE GENETICS INC       SEATTLE GENETICS INC       1,920.28       1,1         SEATTLE GENETICS INC       SEATTLE GENETICS INC       07/15/2011       02/03/2015       3,092.72       1,1         SEATTLE GENETICS INC       SEATTLE GENETICS INC       08/08/2011       02/05/2015       3,218.88       1,1         SEATTLE GENETICS INC       08/08/2011       02/05/2015       3,218.88       1,1         SIEMENS AG ADR       04/04/2014       07/10/2015       2,500.00       24,200.00         SIEMENS AG ADR       12/26/2013       09/17/2015       2,500.00       24,200.00         STEAM LICAP WORLD FUND CL F2       06/25/2007       10/07/2015       2,500.00       24,200.00         TERXAS INSTRUMENTS INC       07/11/2013       02/13/2015       2,144.09       1,200.00         VERISIGN INC       05/17/2013       04/15/2015       2,364.23       1,200.00       2,364.23       2,364.23       2,391.15       2,391.15       2,391.15       2,291.15 </td <td></td> <td>01/10/2014</td> <td>09/23/2015</td> <td>3,707.31</td> <td>5,261.24</td> <td></td> <td></td> <td>-1,553.93</td>		01/10/2014	09/23/2015	3,707.31	5,261.24			-1,553.93
SEATTLE GENETICS INC       SEATTLE GENETICS INC       09/08/2011       02/05/2015       3,092.72       1,         SEATTLE GENETICS INC       SEATTLE GENETICS INC       08/08/2011       02/05/2015       3,218.88       1,         SIEMENS AG ADR       04/04/2014       07/10/2015       3,590.47       4,         642 SWALLCAP WORLD FUND CL F2       12/26/2013       09/17/2015       2,500.00       24,         504 SWALLCAP WORLD FUND CL F2       06/25/2007       10/07/2015       2,500.00       24,         TEXAS INSTRUMENTS INC       07/11/2013       02/13/2015       2,018.98       1,         VERISIGN INC       08/13/2013       04/16/2015       2,364.23       1,         VERISIGN INC       05/11/2013       04/15/2015       2,364.23       1,         VERISIGN INC       02/15/2013       04/15/2015       2,991.15       2,	SEATTLE GENETICS	07/12/2011	12/26/2014	1,920.28	1,180.35			739.93
SEATTLE GENETICS INC       SEATTLE GENETICS INC       SEATTLE GENETICS INC       3,218.88       1,         SIENENS AG ADR       04/04/2011       02/06/2015       55.50       4,         642 SWALLCAP WORLD FUND CL F2       12/26/2013       09/17/2015       2,500.00       24,         504 SWALLCAP WORLD FUND CL F2       06/25/2007       10/07/2015       25,000.00       24,         TIEYAN INSTRUMENTS INC       07/11/2013       02/13/2015       2,018.98       1,         TIFFANY & CO NEW       08/13/2013       02/16/2015       2,144.09       1,         VERISIGN INC       05/11/2013       04/16/2015       2,364.23       1,         VERISIGN INC       05/11/2013       04/15/2015       2,364.23       4,         VERISIGN INC       02/15/2013       04/15/2015       2,991.15       2,991.15       2,991.15       2,991.15       2,990.10	SEATTLE GENETICS	07/15/2011	02/03/2015	3,092.72	1,926.96			1,165.76
SEATTLE GENETICS INC       SEATTLE GENETICS INC       SEATTLE GENETICS INC       655.50       4.         SIEMENS AG ADR       04/04/2014       07/10/2015       3,590.47       4.         642 SWALLCAP WORLD FUND CL F2       12/26/2013       09/17/2015       2,500.00       24.         504 SWALLCAP WORLD FUND CL F2       06/25/2007       10/07/2015       25,000.00       24.         TEXAS INSTRUMENTS INC       07/11/2013       02/13/2015       2,018.98       1,         TIPPANY & CO NEW       08/13/2010       04/16/2015       2,144.09       1,         VERISIGN INC       05/11/2013       04/15/2015       2,364.23       1,         VERISIGN INC       05/11/2013       04/15/2015       2,991.15       2,991.15       2,	- 1	08/08/2011	02/02/2015		1,693.77			1,525.11
SIENENS AG ADR       O4/04/2014       07/10/2015       3,590.47         642 SWALLCAP WORLD FUND CL F2       12/26/2013       09/17/2015       2,500.00         504 SWALLCAP WORLD FUND CL F2       06/25/2007       10/07/2015       25,000.00       2         TEXAS INSTRUMENTS INC       07/11/2013       02/13/2015       2,018.98         TIFPANY & CO NEW       08/13/2010       04/16/2015       2,144.09         VERISIGN INC       05/17/2013       04/15/2015       2,364.23         VERISIGN INC       05/07/2013       04/15/2015       6,792.82         VERISIGN INC       02/15/2013       04/15/2015       2,991.15	- 1	08/08/2011	02/06/2015	655.50	255.80			399.70
642 SWALLCAP WORLD FUND CL P2       12/26/2013       09/17/2015       2,500.00       0         504 SWALLCAP WORLD FUND CL P2       06/25/2007       10/07/2015       25,000.00       2         TEXAS INSTRUMENTS INC         TIPPANY & CO NEW       08/13/2010       04/16/2015       2,144.09         VERISIGN INC         VERISIGN INC       05/01/2013       04/15/2015       6,792.82         VERISIGN INC       02/15/2013       04/15/2015       6,792.82		04/04/2014	07/10/2015	3,590.47	4,768.35			-1,177.88
5.04 SMALLCAP WORLD FUND CL P2       5.04 SMALLCAP WORLD FUND CL P2       25,000.00       2         TEXAS INSTRUMENTS INC         TIPPANY & CO NEW       08/13/2013       02/16/2015       2,144.09         VERISIGN INC         VERISIGN INC       05/17/2013       04/15/2015       6,792.82         VERISIGN INC       02/15/2013       04/15/2015       6,792.82	51,642 SWALLCAP WORLD FUND CL P2	12/26/2013	09/17/2015	2,500.00	2,463.38			36.62
TEXAS INSTRUMENTS INC         TIFPANY & CO NEW         07/11/2013         02/13/2015         2,018.98           TIFPANY & CO NEW         08/13/2010         04/16/2015         2,144.09           VERISIGN INC         05/11/2013         02/06/2015         2,364.23           VERISIGN INC         05/01/2013         04/15/2015         6,792.82           VERISIGN INC         02/15/2013         04/20/2015         2,991.15	533.504 SMALICAP WORLD FUND CL P2	06/25/2007	10/01/2015	25,000.00	24,062.53			937.47
TIFPANY & CO NEW         08/13/2010         04/16/2015         2,144.09           VERISIGN INC         05/17/2013         02/06/2015         2,364.23           VERISIGN INC         05/01/2013         04/15/2015         6,792.82           VERISIGN INC         02/15/2013         04/20/2015         2,991.15	35. TEXAS INSTRUMENTS INC	07/11/2013	02/13/2015	2,018.98	1,300.75			718.23
VERISIGN INC         05/17/2013         02/06/2015         2,364.23           VERISIGN INC         05/01/2013         04/15/2015         6,792.82           VERISIGN INC         02/15/2013         04/20/2015         2,991.15	25. TIFFANY & CO NEW	08/13/2010	04/16/2015	2,144.09	1,057.61			1,086.48
VERISIGN INC         05/01/2013         04/15/2015         6,792.82           VERISIGN INC         02/15/2013         04/20/2015         2,991.15	40. VERISIGN INC	05/11/2013	02/06/2015	2,364.23	1,920.40			443.83
VERISIGN INC 2,991.15 2,991.15 2,081		05/01/2013	04/15/2015	6,792.82	4,634.06			2,158.76
		02/15/2013	04/20/2015	2,991.15	2,081.44			909.71



JOHN BROWN COOK FOUNDATION INC.

DETAIL OF LONG-TERM CAPITAL GAINS AND LOSSES

89. VERSIGOL INC 65. DELAHI AUTOMOTIVE PLC 61.0612014 02/12/2015 5,172.83 3,291.30 66. ENTOW CORP PLC 61.0612014 02/12/2015 5,172.83 3,291.30 73. AGI 2012/2015 1,172.83 3,291.30 73. AGI 2012/2015 1,172.83 1,172.84 73. AGI 2012/2015 1,172	Capital Gain/Loss Detail	Date Acquired	Date Sold	Gross Sales Price	Cost or Other Basis	Adjustment Code(s)	Amount of Adjustment	Gain or Loss
65. URBINISH DEC 04/03/2014 05/12/2015 5.111.02 3.599.3 0 1.0 66. ENTON CORP EC 01/13/2014 01/13/2014 01/13/2014 01/13/2014 01/13/2014 01/13/2014 01/13/2014 01/13/2014 01/13/2014 01/13/2014 01/13/2015 1.023 0.0								
66. ENTERLY DEC.  61/19/2014 01/19/2015 31 201.53 31.44 31.4	80. VERISIGN INC	04/23/2014	05/11/2015	5,111.02	3,999.30			1,111.72
60. REDUM CORP ELC.  10. ANGO TECHNOLOGIES LTD	65. DELPHI AUTOMOTIVE PLC	01/08/2014	02/12/2015	5,072.83	3,947.34			1,125.49
32. AGE LED  10. ANGO TECHNOLOGIES LID  10. ANGO	60. RATON CORP PLC	01/13/2014	01/30/2015	3,821.63	4,334.04			-512.41
10. AWARO TREMBUGGIES LID  10. AWARD TREMBUGGIES	30. ACB LTD	12/11/2013	02/02/2015	3,274.64	3,011.95			262.69
70. AMGO TECHNOLOGIES LTD	10. AVAGO TECHNOLOGIES LID	01/07/2014	02/09/2015	1,023.07				493.40
290.669.91 205.104.79	70. AVAGO TECHNOLOGIES LTD	03/27/2014	04/21/2015	8, 700.48	4			4,318.58
290,665-91 265-304-79								
230,669-51 205.104.79								
230,665.51, 205,104,19				1				
230,669,91, 205,104,79								}
290,669.51 205.104.79								
290, 669, 91, 205, 104, 79								
290,669.31 205.104.79								
239,669,31, 205,104,79								
230,669.51 205,104.79								
290, 569, 21, 205, 104, 79								
230,669,91 205,104,79								
290,669.91 205,104.19								
230,669,91 205,104,79								
290,669.91 205,104,79								
290,669.91 205,104.79								
290,669,91 205,104,79								
290,669.91 205,104,79								
230,669,91 205,104,79								
290,669.91 205,104,79								
290,669.91 205,104,79								
290,669.91 205,104,79								
290,669,91 205,104,79								
290,669.91 205,104,79								
290,669,91 205,104,79								
290,669,91 205,104,79								
290,669,91 205,104,79				 				
290,669,91 205,104,79								
299,669,91 205,104,79								
	Totals			290,669.91	205,104,79			85,565,12

JSA XG900 3.000

JOHN BROWN COOK FOUNDATION INC.

### FEDERAL CAPITAL GAIN DISTRIBUTIONS \_\_\_\_\_\_

CAPITAL	GAIN	DISTRIBUTIONS

251.49 LONG-TERM CAPITAL GAIN DIVIDENDS/DISTRIBUTI 1,158.53 CAPITAL GROUP CORE BOND FUND NEW WORLD FUND CL F2 14,656.98 SMALLCAP WORLD FUND CL F2 15,431.81

TOTAL CAPITAL GAIN DISTRIBUTIONS (ROUNDED)

31,499.00 =========

STATEMENT 11





JOHN BROWN COOK FOUNDATION INC. Account Number: XXXX59400	TION INC.						, Rep	As of October 31, 2015 Reporting Currency: USD	31, 2015 3y: USD
Description	Shares/ Par	Average Cost/ Unit	Total Cost	Current Price	Total Market Value	% of Total Net Assets	Unrealized Gain/(Loss)	Estimated Annual Income Yield(%)	Annual Yield(%)
Cash and Cash Equivalents SSGA US GOV MONEY MARKET FUND	22,294	1.00	22,294	1.00	22,294	0.7	0	0	0.0
Total Cash and Cash Equivalents Fixed Income			22,294		22,294	0.7	0	0	0.0
MUTUAL FUNDS	1	ļ							
CAPITAL GROUP CORE BOND FUND	93,962	10.39	976,568	10.19	957,472	28.6	(19,095)	15,316	1.6
TOTAL MUTUAL FUNDS			976,568		957,472	28.6	(19,095)	15,316	1.6
Total Fixed Income			976,568		957,472	28.6	(19,095)	15,316	1.6
Equity									
ENERGY							į		
CHEVRON CORP	130	60.06	11,712	90.88	11,814	0.4	102	556	4.7
COLUMBIA PIPELINE GROUP INC	265	20.65	5,473	20.77	5,504	0.2	31	133	2.4
CONOCOPHILLIPS	155	67.21	10,417	53.35	8,269	0.2	(2,148)	459	5.6
ENBRIDGE INC	75	48.53	3,640	42.69	3,202	0.1	(438)	106	က က (
EOG RESOURCES INC	70	31.13	2,179	85.85	6,010	0.5	3,830	47	0.8
EXXON MOBIL CORP	100	73.10	7,310	82.74	8,274	0.2	964	292	3.5
HALLIBURTON CO	125	33,37	4,171	38.38	4,798	0.1	626	06	6. i
KINDER MORGAN INC	450	36.65	16,491	27.35	12,308	0.4	(4,183)	918	7.5
OCCIDENTAL PETROLEUM CORP	20	64.05	4,484	74.54	5,218	0.5	734	210	4.0
SCHLUMBERGER LTD	235	41.81	9,826	78.16	18,368	0.5	8,542	470	5.6
TOTAL ENERGY			75,702		83,763	2.5	8,060	3,280	3.9

© The Capital Group Companies, Inc. All Rights Reserved.

Page 3 of 22



JOHN BROWN COOK FOUNDATION INC. Account Number: XXXX59400	TION INC.						Rep	As of October 31, 2015 Reporting Currency: USD	31, 2015 37: USD
Description	Shares/ Par	Average Cost/ Unit	Total Cost	Current Price	Total Market Value	% of Total Net Assets	Unrealized Gain/(Loss)	Estimated Annua Income Yield(%)	d Annual Yield(%)
MATERIALS						į			ļ
DOW CHEMICAL CO	215	39.59	8,511	51.67	11,109	0.3	2,598	396	3.6
MONSANTO CO NEW COM	125	62.34	7,792	93.22	11,653	0.3	3,860	270	2.3
PRAXAIR INC	100	129.19	12,919	111.09	11,109	0.3	(1,810)	286	2.6
TOTAL MATERIALS			29,223		33,871	1.0	4,648	952	2.8
INDUSTRIALS									
B/E AEROSPACE INC	06	48.10	4,329	46.95	4,226	0.1	(103)	89	1.6
BOEING CO	155	93.79	14,538	148.07	22,951	0.7	8,413	564	2.5
CATERPILLAR INC	100	87.83	8,783	72.99	7,299	0.2	(1,484)	308	4.2
DANAHER CORP	200	28.98	5,796	93.31	18,662	9.0	12,866	108	9.0
EATON CORP PLC	300	50.18	15,053	55.91	16,773	0.5	1,720	099	3.9
HEXCEL CORP	315	41.58	13,098	46.32	14,591	0.4	1,493	126	6.0
IDEX CORP	105	67.37	7,074	76.76	8,060	0.2	986	134	1.7
NIELSEN HOLDINGS PLC	520	29.65	15,418	47.51	24,705	0.7	9,287	582	2.4
NORFOLK SOUTHERN CORP	190	61.42	11,669	80.03	15,206	9.0	3,537	448	3.0
SIEMENS AG ADR	45	110.21	4,959	100.57	4,526	0.1	(434)	124	2.7
TOWERS WATSON & COMPANY CL A	150	114.20	17,130	123.56	18,534	9.0	1,404	06	0.5
UNITED TECHNOLOGIES CORP	170	65.87	11,199	98.41	16,730	0.5	5,531	435	2.6
WASTE CONNECTIONS INC	335	42 21	14,141	54.48	18,251	0.5	4,110	194	7.
WASTE MANAGEMENT INC	06	53.58	4,822	53.76	4,838	0.1	17	139	2.9
TOTAL INDUSTRIALS			148,008		195,350	5.8	47,343	3,982	2.0

λ.,

Page 4 of 22



### CAPITAL GROUP"

## **Detailed Holdings List by Sector**

JOHN BROWN COOK FOUNDATION INC. Account Number: XXXX59400	TION INC.						Re	As of October 31, 2015 Reporting Currency: USD	,1, 2015 y: USD
Description	Shares/ Par	Average Cost/ Unit	Total Cost	Current Price	Total Market Value	% of Total Net Assets	Unrealized Gain/(Loss)	Estimated Annual Income Yield(%)	Annual Yield(%)
CONSUMER DISCRETIONARY									
CARNIVAL CORP COMMON PAIRED	145	30.02	4,352	54.08	7,842	0.2	3,489	174	2.2
CHARTER COMMUNICATIONS INC CL	70	157.18	11,003	190.94	13,366	0.4	2,363	0	0.0
COMCAST CORP CLA (NEW)	435	18 44	8 020	62.62	27 240	0.8	19.220	435	1.6
DAIMLER AG ADR	45	70.17	3.157	86,80	3,906	0.1	749	88	2.3
DELPHI AUTOMOTIVE PLC	09	54.99	3,300	83.19	4,991	0.1	1,692	09	1.2
HOME DEPOT INC	145	33.84	4,907	123.64	17,928	0.5	13,021	342	9:
LAS VEGAS SANDS CORP	110	55.09	090'9	49.51	5,446	0.2	(614)	286	5.3
NEWELL RUBBERMAID INC	069	21.95	15,146	42.43	29,277	6.0	14,130	524	<del>1</del> .8
NIKE INC CL B	06	55.27	4,974	131.03	11,793	0.4	6,819	101	0.0
NORWEGIAN CRUISE LINE HOLDINGS	140	33.24	4,654	63.62	8,907	0.3	4,253	0	0.0
DANERA REFAUCACIA	75	186 18	13 06/	177 37	13 303	0.4	(661)	С	0.0
PRICELINE GROUP INC/THE	5 4	1 039 80	4.159	1.454.24	5.817	0.2	1,658	0	0.0
SCRIPPS NETWORKS INTERACTIVE	110	40.21	4,424	60.08	609'9	0.2	2,185	101	1.5
SIRIUS XM HOLDINGS INC	1.700	3.14	5.340	4.08	6,936	0.2	1,596	0	0.0
STARBUCKS CORP	250	34.30	8,574	62.57	15,643	0.5	7,069	160	1.0
TIME WARNER CABLE INC	20	156.74	3,135	189.40	3,788	0.1	653	09	1.6
VIACOM INC CLASS B	155	70.15	10,873	49.31	7,643	0.2	(3,230)	248	3.2
WHIRLPOOL CORP	15	200.90	3,014	160.14	2,402	0.1	(611)	54	2.3
YUM BRANDS INC	135	80.51	10,869	70.91	9,573	0.3	(1,296)	248	5.6
TOTAL CONSUMER DISCRETIONARY			129,923		202,408	0.9	72,485	2,882	4.4

© The Capital Group Companies, Inc. All Rights Reserved.



As As	JOHN BROWN COOK FOUNDATION INC. Account Number: XXXX59400	TION INC.						Re	As of October 31, 2015 Reporting Currency: USD	31, 2015 icy: USD
75 42.28 3,171 42.35 3,176 45 103.53 4,659 98.78 4,445 140 115.37 16,152 115.08 16,111 80 36.22 2,897 46.16 3,693 172 42.13 7,246 76.22 13,110 18C 190 68.08 12,934 88.40 16,796 PON 300 41.49 12,448 44.45 13,335 115 49.04 5,640 59.55 6,848 140 73.30 10,262 96.51 13,511 350 35.65 12,476 31.89 11,162 20 23.79 1,190 66.39 3,298 210 10.30 2,163 66.29 13,921 235 46.54 10,937 86.38 20,299 195 24.55 4,788 108.13 21,085 20 71.89 6,470 117.53 10,578 165 84.25 13,902 14,328 5.18 165 84.25 13,902 73.92 14,414 125 14.46 1,808 53.18 6,648	uc	Shares/ Par	Average Cost/ Unit	Total Cost	Current Price	Total Market Value	% of Total Net Assets	Unrealized Gain/(Loss)	Estimated Annua Income Yield(%)	f Annual Yield(%)
75 42.28 3,171 42.35 3,176 45 103.53 4,659 98.78 4,445 140 115.37 16,152 115.08 16,111 80 99.73 2,992 82.00 2,460 80 36.22 2,897 46.16 3,693 172 42.13 7,246 76.22 13,110 172 42.13 7,246 76.22 13,110 18C 190 68.08 12,934 88.40 16,796 285 76.55 21,816 76.38 21,768 PON 300 41.49 12,448 44.45 13,335 115 49.04 5,640 59.55 6,848 116 73.30 10,262 96.51 13,511 350 35.65 12,476 31.89 11,162 50 23.79 1,190 65.95 3,298 195 24.55 4,788 108.13 21,085 20 195.12 3,902 143.28 2,866 90 71.89 6,470 117.53 10,578 165 84.25 13,902 81.57 13,459 195 75.03 14,632 73.92 14,414 125 14.46 1,808 53.18 6,648	ER STAPLES									
45 103.53 4,659 98.78 4,445 140 115.37 16,152 115.08 16,111  A 30 99.73 2,992 82.00 2,460 2,460 36.22 2,897 46.16 3,693 172 42.13 7,246 76.22 13,110  INC 190 68.08 12,934 88.40 16,796 285 76.55 21,816 76.38 21,768  PON 300 41.49 12,448 44.45 13,335 115 49.04 5,640 59.55 6,848 140 73.30 10,262 96.51 13,511 350 35.65 12,476 31.89 11,162 50 23.79 1,190 65.95 3,298 195 24.55 4,788 108.13 21,085 20 195.12 3,902 143.28 2,866 90 71.89 6,470 117.53 10,578 165 84.25 13,902 81.57 13,459 165 14.46 1,808 53.18 6,648	LA CO	75	42.28	3,171	42.35	3.176	0.1	5	66	3.4
- A 30 99.73 2,992 82.00 2,460 86.29 82.00 2,460 86.29 82.20 82.00 2,460 3.693 172 42.13 7,246 76.22 13,110 172 42.13 7,246 76.22 13,110 17.934 88.40 16,796 285 76.55 21,816 76.38 21,768 21,768 285 76.55 21,816 76.38 21,768 21,768 21,768 21,768 21,768 21,768 21,768 21,768 21,768 21,768 21,768 21,768 21,769 21,010,262 96.51 13,511 350 35.65 12,476 31.89 11,162 20 20 195.12 3,902 143.28 20,299 195 24,55 4,788 108.13 21,085 20 195.12 3,902 143.28 20,299 195 24,55 4,788 108.13 21,085 20 195.12 3,902 143.28 2,866 90 71.89 6,470 117.53 10,578 165 84.25 14,632 73.92 14,414 125 14,632 73.92 14,414 125 14,414 125 14,632 73.92 14,414 125 14,414 125 14,632 73.92 14,414 125 14,414 125 14,414 125 14,414 125 14,414 125 14,414 125 14,414 125 14,414 125 14,414 125 14,414 125 14,414 125 14,414 125 14,414 14,414 125 14,414 14,414 14,414 125 14,414 14,4	LTH CORPORATION	45	103.53	4,659	98.78	4,445	0.1	(214)	93	. 4
- A 30 99.73 2,992 82.00 2,460 3,693 172 42.13 7,246 76.22 13,110 172 42.13 7,246 76.22 13,110 17.28	PLC SPONSORED ADR	140	115.37	16,152	115.08	16,111	0.5	(41)	478	30
80 36.22 2,897 46.16 3,693 172 42.13 7,246 76.22 13,110 172 42.13 7,246 76.22 13,110 16.796 88.08 12,934 88.40 16,796 16,796 285 76.55 21,816 76.38 21,768 13,335 14.49 12,448 44.45 13,335 14.0 173.30 10,262 96.51 13,511 350 35.65 12,476 31.89 11,162 210 10.30 2,163 66.29 13,921 235 46.54 10,937 86.38 20,299 195.12 3,902 143.28 2,866 90 71.89 6,470 117.53 10,578 165 84.25 14,414 155 14,612 155.18 6,648 125 14.46 1,808 53.18	HNSON NUTRITION CO - A	30	99.73	2,992	82.00	2,460	0.1	(532)	50	200
INC 190 68.08 12,934 88.40 16,796 285 76.55 21,816 76.38 21,768 PON 300 41.49 12,448 44.45 13,335  115 49.04 5,640 59.55 6,848 140 73.30 10,262 96.51 13,511 350 33.65 12,476 31.89 11,162 50 23.79 1,190 65.95 3,298 210 10.30 2,163 66.29 13,921 225 46.54 10,937 86.38 20,299 195 24.55 4,788 108.13 21,085 20 195.12 3,902 143.28 2,866 90 71.89 6,470 117.53 10,578 165 84.25 13,902 81.57 13,459 165 14.46 1,808 53.18 6,648	EZ INTERNATIONAL INC	80	36.22	2,897	46.16	3,693	0.1	796	54	1.5
NC 190 68.08 12,934 88.40 16,796 285 76.55 21,816 76.38 21,768 PON 300 41.49 12,448 44.45 13,335  115 49.04 5,640 59.55 6,848 140 73.30 10,262 96.51 13,511 350 35.65 12,476 31.89 11,162 50 23.79 1,190 65.95 3,298 210 10.30 2,163 66.29 13,921 235 46.54 10,937 86.38 20,299 195 24.55 4,788 108.13 21,085 20 195.12 3,902 143.28 2,866 90 71.89 6,470 117.53 10,578 165 84.25 13,902 81.57 13,459 195 75.03 14,632 73.92 14,414 125 14.46 1,808 53.18 6,648	NAM SPON ADR	172	42.13	7,246	76.22	13,110	0.4	5.864	329	2.5
285 76.55 21,816 76.38 21,768  PON 300 41.49 12,448 44.45 13,335  84,315 94,894  115 49.04 5,640 59.55 6,848  140 73.30 10,262 96.51 13,511  350 35.65 12,476 31.89 11,162  50 23.79 1,190 65.95 3,298  210 10.30 2,163 66.29 13,921  235 46.54 10,937 86.38 20,299  195 24.55 4,788 108.13 21,085  20 195.12 3,902 143.28 2,866  90 71.89 6,470 117.53 10,578  165 84.25 13,902 81.57 13,459  195 75.03 14,632 73.92 14,414  125 14.46 1,808 53.18 6,648	ORRIS INTERNATIONAL INC	190	68.08	12,934	88.40	16,796	0.5	3,862	775	4.6
PON 300 41.49 12,448 44.45 13,335  84,315  84,315  84,315  94,894  115 49.04 5,640 59.55 6,848  140 73.30 10,262 96.51 13,511  350 35.65 12,476 31.89 11,162  50 23.79 1,190 65.95 3,298  210 10.30 2,163 66.29 13,921  235 46.54 10,937 86.38 20,299  195 24.55 4,788 108.13 21,085  20 195.12 3,902 143.28 2,866  90 71.89 6,470 117.53 10,578  165 84.25 13,902 81.57 13,459  195 75.03 14,632 73.92 14,414  125 14.46 1,808 53.18 6,648	R & GAMBLE CO	285	76.55	21,816	76.38	21,768	0.7	(48)	756	35
115     49.04     5,640     59.55     6,848       140     73.30     10,262     96.51     13,511       350     35.65     12,476     31.89     11,162       50     23.79     1,190     66.95     3,298       210     10.30     2,163     66.29     13,921       235     46.54     10,937     86.38     20,299       195     24.55     4,788     108.13     21,085       20     195.12     3,902     143.28     2,866       90     71.89     6,470     117.53     10,578       165     84.25     13,902     81.57     13,459       195     75.03     14,632     73.92     14,414       125     14.46     1,808     53.18     6,648	R PLC ADR AMER SHS SPON	300	41.49	12,448	44.45	13,335	0.4	887	360	2.9
115       49.04       5,640       59.55       6,848         140       73.30       10,262       96.51       13,511         350       35.65       12,476       31.89       11,162         50       23.79       1,190       65.95       3,298         210       10.30       2,163       66.29       13,921         235       46.54       10,937       86.38       20,299         195       24.55       4,788       108.13       21,085         20       195.12       3,902       143.28       2,866         90       71.89       6,470       117.53       10,578         165       84.25       13,902       81.57       13,459         195       75.03       14,632       73.92       14,414         125       14.46       1,808       53.18       6,648	ONSUMER STAPLES			84,315		94,894	2.8	10,579	2,994	3.2
115     49.04     5,640     59.55     6,848       140     73.30     10,262     96.51     13,511       350     35.65     12,476     31.89     11,162       50     23.79     1,190     65.95     3,298       210     10.30     2,163     66.29     13,921       235     46.54     10,937     86.38     20,299       195     24.55     4,788     108.13     21,085       20     195.12     3,902     143.28     2,866       90     71.89     6,470     117.53     10,578       165     84.25     13,902     81.57     13,459       195     75.03     14,632     73.92     14,414       125     14.46     1,808     53.18     6,648	CARE									
140       73.30       10,262       96.51       13,511         350       35.65       12,476       31.89       11,162         50       23.79       1,190       65.95       3,298         210       10.30       2,163       66.29       13,921         235       46.54       10,937       86.38       20,299         195       24.55       4,788       108.13       21,085         20       195.12       3,902       143.28       2,866         90       71.89       6,470       117.53       10,578         165       84.25       13,902       81.57       13,459         195       75.03       14,632       73.92       14,414         125       14.46       1,808       53.18       6,648	NC	115	49.04	5,640	59.55	6.848	0.2	1.208	235	3.4
350     35.65     12,476     31.89     11,162       50     23.79     1,190     65.95     3,298       210     10.30     2,163     66.29     13,921       235     46.54     10,937     86.38     20,299       195     24.55     4,788     108.13     21,085       20     195.12     3,902     143.28     2,866       90     71.89     6,470     117.53     10,578       165     84.25     13,902     81.57     13,459       195     75.03     14,632     73.92     14,414       125     14.46     1,808     53.18     6,648	URCEBERGEN CORP	140	73.30	10,262	96.51	13,511	0.4	3.249	162	1.2
50       23.79       1,190       65.95       3,298         210       10.30       2,163       66.29       13,921         235       46.54       10,937       86.38       20,299         195       24.55       4,788       108.13       21,085         20       195.12       3,902       143.28       2,866         90       71.89       6,470       117.53       10,578         165       84.25       13,902       81.57       13,459         195       75.03       14,632       73.92       14,414         125       14.46       1,808       53.18       6,648	NECA PLC ADR	350	35.65	12,476	31.89	11,162	0.3	(1.314)	483	4.3
210     10.30     2,163     66.29     13,921       235     46.54     10,937     86.38     20,299       195     24.55     4,788     108.13     21,085       20     195.12     3,902     143.28     2,866       90     71.89     6,470     117.53     10,578       165     84.25     13,902     81.57     13,459       195     75.03     14,632     73.92     14,414       125     14.46     1,808     53.18     6,648	-MYERS SQUIBB CO	20	23.79	1,190	65.95	3,298	0.1	2,108	74	2.2
235     46.54     10,937     86.38     20,299       195     24.55     4,788     108.13     21,085       20     195.12     3,902     143.28     2,866       90     71.89     6,470     117.53     10,578       165     84.25     13,902     81.57     13,459       195     75.03     14,632     73.92     14,414       125     14.46     1,808     53.18     6,648	CORP	210	10.30	2,163	66.29	13,921	0.4	11,758	0	0.0
195 24.55 4,788 108.13 21,085 20 195.12 3,902 143.28 2,866 90 71.89 6,470 117.53 10,578 165 84.25 13,902 81.57 13,459 195 75.03 14,632 73.92 14,414 - B ADR 125 14.46 1,808 53.18 6,648	S SCRIPTS HOLDING CO	235	46.54	10,937	86.38	20,299	9.0	9,362	0	0.0
20 195.12 3,902 143.28 2,866 90 71.89 6,470 117.53 10,578 165 84.25 13,902 81.57 13,459 -C K A/S CL B ADR 125 14.46 1,808 53.18 6,648	SCIENCES INC	195	24.55	4,788	108.13	21,085	9.0	16,298	335	1.6
90 71.89 6,470 117.53 10,578 165 84.25 13,902 81.57 13,459 -C K A/S CL B ADR 125 14.46 1,808 53.18 6,648	INC	20	195.12	3,902	143.28	2,866	0.1	(1,037)	0	0.0
165 84.25 13,902 81.57 13,459 -C 195 75.03 14,632 73.92 14,414 K A/S CL B ADR 125 14.46 1,808 53.18 6,648	ORP	06	71.89	6,470	117.53	10,578	0.3	4,108	0	0.0
195 75.03 14,632 73.92 14,414 125 14.46 1,808 53.18 6,648	& CO	165	84.25	13,902	81.57	13,459	0.4	(443)	330	2.5
125 14.46 1,808 53.18 6,648	NIC PLC	195	75.03	14,632	73.92	14,414	0.4	(217)	296	2.1
	RDISK A/S CL B ADR	125	14.46	1,808	53.18	6,648	0.2	4,840	29	1.0

Page 6 of 22



# JOHN BROWN COOK FOUNDATION INC.

As of October 31, 2015 Reporting Currency: USD **Estimated Annual** Income Yield(%) 1.8 1.3 2.1 4.1 1.5 1.7 2.0 4.4 4.4 4.4 2.3 3.3 2.1 2.8 2.5 296 140 2,418 268 202 120 390 177 269 273 273 646 500 521 102 220 245 525 176 1,458 00 Unrealized Gain/(Loss) (118) 6,279 3,005 7,229 (37) (721) 8,136 1,279 9,476 7,796 (833) (214) 468 56,081 4,109 6,537 1,800 18,030 4,386 % of **Total Net** Assets 0.5 0.3 0.3 0.6 0.6 0.4 0.6 0.3 0.5 0.7 0.2 9.0 0.3 0.4 0.4 4.9 5.4 162,605 Market 8,245 8,576 5,899 12,795 16,272 13,493 19,688 10,418 18,949 11,245 4,273 7,212 9,331 18,422 18,247 23,411 4,954 0,831 181,827 Value Total Current Price 117.78 85.46 30.64 64.25 54.14 63.81 93.31 94.47 56.22 187.50 55.74 96.16 107.20 737.39 45.04 066,31 1,965 106,524 6,326 11,193 4,310 14,213 11,551 9,138 15,615 8,045 5,169 17,149 4,448 1,514 Total 8,771 Cost 133,797 10,364 Cost Cnit Average 63.26 57.40 86.20 26.88 37.18 189.20 211.91 64.27 28.08 59.22 110.01 30.88 107.26 49.00 55.60 Shares/ Par 240 105 340 284 420 110 350 255 70 8 2 8 PNC FINANCIAL SERVICES GROUP RON MOUNTAIN INCORPORATED CROWN CASTLE INTERNATIONAL DISCOVER FINANCIAL SERVICES MARSH & MCLENNAN COS INC Account Number: XXXX59400 GOLDMAN SACHS GROUP INC NFORMATION TECHNOLOGY UNITEDHEALTH GROUP INC WELLS FARGO & CO (NEW) AMERICAN TOWER CORP JPMORGAN CHASE & CO **TOTAL HEALTH CARE** ACCENTURE PLC US\$ PACWEST BANCORP ALPHABET INC CL A ALPHABET INC CL C **TOTAL FINANCIALS** ST JUDE MEDICAL CME GROUP INC MOODYS CORP FINANCIALS Description **AON PLC** ACE LTD CORP

© The Capital Group Companies, Inc. All Rights Reserved.

Page 7 of 22



### CAPITAL GROUP"

**Detailed Holdings List by Sector** 

JOHN BROWN COOK FOUNDATION INC.	As of October 31,
Account Number: XXXX59400	Reporting Currency:

JOHN BROWN COOK FOUNDATION INC. Account Number: XXXX59400	ON INC.						Rep	As of October 31, 2015 Reporting Currency: USD	31, 2015 y: USD
Description	Shares/ Par	Average Cost/ Unit	Total Cost	Current Price	Total Market Value	% of Total Net Assets	Unrealized Gain/(Loss)	Estimated Annual Income Yield(%)	l Annual Yield(%)
APPLE INC	105	13.60	1,428	119.50	12,548	0.4	11,119	218	1.7
AUTOMATIC DATA PROCESSING INC	255	70.32	17,932	86.99	22,182	0.7	4,251	200	2.3
AVAGO TECHNOLOGIES LTD	115	47.52	5,464	123.13	14,160	0.4	8,696	193	1.4
BROADCOM CORP	215	24.78	5,328	51.40	11,051	0.3	5,723	120	<del>[</del> -
JABIL CIRCUIT INC	435	19.25	8,372	22.98	966'6	0.3	1,624	139	1.4
JACK HENRY & ASSOC INC	350	33.88	11,857	77.34	27,069	0.8	15,212	350	1.3
MICROSOFT CORP	300	15.05	4,516	52.64	15,792	0.5	11,276	432	2.7
ORACLE CORP	120	25.51	3,061	38.84	4,661	0.1	1,599	72	1.5
TEXAS INSTRUMENTS INC	315	35.25	11,104	56.72	17,867	0.5	6,762	479	2.7
VERISIGN INC	130	47.01	6,111	80.60	10,478	0.3	4,367	0	0.0
VISA INC CL A	220	34.46	7,581	77.58	17,068	0.5	9,487	123	0.7
TOTAL INFORMATION TECHNOLOGY			92,531		190,141	5.7	97,610	2,803	1.5
TELECOMMUNICATION SERVICES								i	
VERIZON COMMUNICATIONS	285	49.61	14,139	46.88	13,361	4.0	(778)	644	4.8
TOTAL TELECOMMUNICATION SERVICES			14,139		13,361	0.4	(778)	644	4.8
UTILITIES									
NATIONAL GRID PLC - SP ADR	75	55.05	4,129	71.60	5,370	0.2	1,241	250	4.7
TOTAL UTILITIES			4,129		5,370	0.2	1,241	250	4.6
MUTUAL FUNDS									
CAPITAL WORLD GROWTH & INCOME	6,858	43.15	295,910	45.68	313,262	9.4	17,352	6,775	2.2
EUROPACIFIC GROWTH FUND CL F2	9,291	46.42	431,289	48.03	446,262	13.3	14,973	7,331	1.6

Page 8 of 22



**GROUP**"

## **Detailed Holdings List by Sector**

# JOHN BROWN COOK FOUNDATION INC. Account Number: XXXX59400

JOHN BROWN COOK FOUNDATION INC. Account Number: XXXX59400	ATION INC.						Rej	As of October 31, 2015 Reporting Currency: USD	31, 2015 37: USD
		Average			Total	% of			
Description	Shares/ Par	Cost/ Unit	Total Cost	Current Price	Market Value	Total Net Assets	Unrealized Gain/(Loss)	Estimated Annual Income Yield(%)	Annual Tield(%)
NEW WORLD FUND CL F2	5,909	54.19	320,234	51.39	303,673	9.1	(16,561)	3,995	13
SMALLCAP WORLD FUND CL F2	3,001	44.04	132,167	47.00	141,038	4.2	8,872	0	0.0
TOTAL MUTUAL FUNDS			1,179,600		1,204,235	36.0	24,636	18,101	1.5
Total Equity			1,997,890		2,367,825	7.0.7	369,935	42,763	1.8
Total Net Assets			2,996,752		3,347,592	100.0	350,840	58,079	1.7